Name (last, first):

Student ID: \_\_\_\_\_

## $\Box$ Write your name and PID on the top of EVERY PAGE.

 $\Box$  Write the solutions to each problem on separate pages. CLEARLY INDICATE on the top of each page the number of the corresponding problem. Different parts of the same problem can be written on the same page (for example, part (a) and part (b)).

 $\Box$  The exam consists of 4 questions. Your answers must be carefully justified to receive credit.

□ This exam will be scanned. Make sure you write ALL SOLUTIONS on the paper provided. DO NOT REMOVE ANY OF THE PAGES.

 $\Box$  No calculators, phones, or other electronic devices are allowed.

□ Remember this exam is graded by a human being. Write your solutions NEATLY AND COHERENTLY, or they risk not receiving full credit.

 $\Box$  You are allowed to use one 8.5 by 11 inch sheet of paper with hand-written notes (on both sides); no other notes (or books) are allowed.

This exam is property of the regents of the university of California and not meant for outside distribution. If you see this exam appearing elsewhere, please NOTIFY the instructor at ynemish@ucsd.edu and the UCSD Office of Academic Integrity at aio@ucsd.edu. 1. (20 points) Let X be a random variable taking values in the set  $\{1, 2, 3, ...\}$ . Let p = P(X = 1) satisfy 0 .

Suppose that for random variable X

$$P(X = k + n | X > n) = P(X = k)$$
(1)

for any  $n, k \geq 1$ .

(a) Consider the identity (1) with k = 1 and n = 1

$$P(X = 2 \mid X > 1) = P(X = 1).$$

Use it to express P(X = 2) in terms of p. [Hint: Notice that  $\{X = 2\} \subset \{X > 1\}$ .]

## Solution.

Using (1) for k = 1 and n = 1 and the definition of the conditional probability we have

$$p = P(X = 2 \mid X > 1) = \frac{P(X = 2, X > 1)}{P(X > 1)} = \frac{P(X = 2)}{1 - P(X = 1)} = \frac{P(X = 2)}{1 - p},$$
 (2)

from which we find that

$$P(X=2) = (1-p)p.$$
 (3)

(b) Consider the identity (1) with k = 2 and n = 1

$$P(X = 3 | X > 1) = P(X = 2).$$

Use it together with the result of (a) to express P(X = 3) in terms of p.

**Solution**. Using (1) for k = 2 and n = 1, equation (3) and the definition of the conditional probability we have

$$(1-p)p \stackrel{(3)}{=} P(X=2) \stackrel{(1)}{=} P(X=3 | X>1) = \frac{P(X=3, X>1)}{P(X>1)} = \frac{P(X=3)}{1-p}, \quad (4)$$

from which we find that

$$P(X=3) = (1-p)^2 p.$$
 (5)

## (CONTINUED ON THE NEXT PAGE)

(c) Use the identity (1) with general  $k \ge 1$  and n = 1 to show that

$$P(X = k + 1) = P(X = k)P(X > 1),$$

and determine the distribution of X.

**Solution**. Repeating the same argument as in parts (a) and (b) for general  $k \ge 1$  and n = 1 we get

$$P(X=k) \stackrel{(1)}{=} P(X=k+1 | X>1) = \frac{P(X=k+1, X>1)}{P(X>1)} = \frac{P(X=k+1)}{1-p}, \quad (6)$$

from which it follows that

$$P(X = k + 1) = (1 - p)P(X = k).$$
(7)

Fix  $l \ge 2$ . By applying (7) l - 1 times we find

$$P(X = l) = (1 - p)P(X = l - 1)$$
(8)

$$= (1-p)^2 P(X=l-2)$$
(9)

$$=\cdots$$
 (10)

$$= (1-p)^{l-1} P(X=1)$$
(11)

$$= (1-p)^{l-1}p.$$
 (12)

We conclude that X has geometric distribution with parameter  $p = P(X = 1), X \sim \text{Geom}(p)$ .

**Remark.** Property (1) is the discrete version of the memoryless property. If  $X \sim \text{Geom}(p)$ , then clearly X satisfies the memoryless property (1). In this problem we have proven the converse: if X is a discrete random variable satisfying (1), then  $X \sim \text{Geom}(p)$ . Therefore, geometric distribution is *the only* discrete distribution on the set  $\{1, 2, \ldots\}$  that satisfies the memoryless property (1).

2. (20 points) Let  $X \sim \text{Poisson}(\lambda)$ . Compute

$$E\left(\frac{1}{1+X}\right).$$

**Solution**. This is a direct calculation:

$$\begin{split} E\left(\frac{1}{1+X}\right) &= \sum_{k=0}^{\infty} \left(\frac{1}{1+k}\right) P(X=k) \\ &= \sum_{k=0}^{\infty} \left(\frac{1}{1+k}\right) \left(e^{-\lambda} \frac{\lambda^k}{k!}\right) \\ &= e^{-\lambda} \sum_{k=0}^{\infty} \frac{1}{1+k} \frac{\lambda^k}{k!} \\ &= e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^k}{(k+1)!} \\ &= e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k+1}}{\lambda(k+1)!} \\ &= \frac{e^{-\lambda}}{\lambda} \sum_{k=0}^{\infty} \frac{\lambda^k}{(k+1)!} \\ &= \frac{e^{-\lambda}}{\lambda} \sum_{k=1}^{\infty} \frac{\lambda^k}{k!} \\ &= \frac{e^{-\lambda}}{\lambda} \left(\left(\sum_{k=0}^{\infty} \frac{\lambda^k}{k!}\right) - 1\right) \\ &= \frac{e^{-\lambda}}{\lambda} \left(e^{\lambda} - 1\right) \\ &= \frac{1-e^{-\lambda}}{\lambda}, \end{split}$$

though you did not need to simplify to the last line. The penultimate line would also receive full credit.

3. (20 points) Suppose that we plan to interview n randomly chosen individuals to estimate the unknown fraction  $p \in (0, 1)$  of the population that likes ice cream. Let  $\hat{p} = \frac{S_n}{n}$  be the random variable that records the proportion of the individuals who say they do like ice cream. How many people must we interview to have at least a 95% chance of capturing the true fraction p with a margin of error .01? You may leave your answer in terms of the inverse  $\Phi^{-1}$  of the CDF of the standard normal.

Solution. We start with the formula

$$2\Phi(2\varepsilon\sqrt{n}) - 1 \ge .95.$$

We are told  $\varepsilon = .01$ . So, this simplifies to

$$\Phi(.02\sqrt{n}) \ge .975.$$

Since the density  $\varphi$  of the standard normal is positive everywhere, its CDF is strictly increasing and hence invertible. This allows us to conclude that

$$.02\sqrt{n} \ge \Phi^{-1}(.975).$$

In other words, we need

$$n \ge (50\Phi^{-1}(.975))^2 = 2500[\Phi^{-1}(.975)]^2.$$

4. (20 points) Show that there is no random variable X such that

$$E(e^X) = 3$$
 and  $E(e^{2X}) = 4.$  (13)

**Solution**. Suppose that there exists a random variable X for which (13) holds. Consider the random variable  $Y = e^X$ . Then we have that

$$E(Y) = 3, \qquad E(Y^2) = 4.$$
 (14)

From this we find that the variance of Y is

$$Var(Y) = E(Y^2) - E(Y)^2 = 4 - 3^2 = -5 < 0,$$
(15)

which is impossible.

	0.00	0.01	0.02	0.03	0.04	0.05	0.06	0.07	0.08	0.09
0.0	0.5000	0.5040	0.5080	0.5120	0.5160	0.5199	0.5239	0.5279	0.5319	0.5359
0.1	0.5398	0.5438	0.5478	0.5517	0.5557	0.5596	0.5636	0.5675	0.5714	0.5753
0.2	0.5793	0.5832	0.5871	0.5910	0.5948	0.5987	0.6026	0.6064	0.6103	0.6141
0.3	0.6179	0.6217	0.6255	0.6293	0.6331	0.6368	0.6406	0.6443	0.6480	0.6517
0.4	0.6554	0.6591	0.6628	0.6664	0.6700	0.6736	0.6772	0.6808	0.6844	0.6879
0.5	0.6915	0.6950	0.6985	0.7019	0.7054	0.7088	0.7123	0.7157	0.7190	0.7224
0.6	0.7257	0.7291	0.7324	0.7357	0.7389	0.7422	0.7454	0.7486	0.7517	0.7549
0.7	0.7580	0.7611	0.7642	0.7673	0.7704	0.7734	0.7764	0.7794	0.7823	0.7852
0.8	0.7881	0.7910	0.7939	0.7967	0.7995	0.8023	0.8051	0.8078	0.8106	0.8133
0.9	0.8159	0.8186	0.8212	0.8238	0.8264	0.8289	0.8315	0.8340	0.8365	0.8389
1.0	0.8413	0.8438	0.8461	0.8485	0.8508	0.8531	0.8554	0.8577	0.8599	0.8621
1.1	0.8643	0.8665	0.8686	0.8708	0.8729	0.8749	0.8770	0.8790	0.8810	0.8830
1.2	0.8849	0.8869	0.8888	0.8907	0.8925	0.8944	0.8962	0.8980	0.8997	0.9015
1.3	0.9032	0.9049	0.9066	0.9082	0.9099	0.9115	0.9131	0.9147	0.9162	0.9177
1.4	0.9192	0.9207	0.9222	0.9236	0.9251	0.9265	0.9279	0.9292	0.9306	0.9319
1.5	0.9332	0.9345	0.9357	0.9370	0.9382	0.9394	0.9406	0.9418	0.9429	0.9441
1.6	0.9452	0.9463	0.9474	0.9484	0.9495	0.9505	0.9515	0.9525	0.9535	0.9545
1.7	0.9554	0.9564	0.9573	0.9582	0.9591	0.9599	0.9608	0.9616	0.9625	0.9633
1.8	0.9641	0.9649	0.9656	0.9664	0.9671	0.9678	0.9686	0.9693	0.9699	0.9706
1.9	0.9713	0.9719	0.9726	0.9732	0.9738	0.9744	0.9750	0.9756	0.9761	0.9767
2.0	0.9772	0.9778	0.9783	0.9788	0.9793	0.9798	0.9803	0.9808	0.9812	0.9817
2.1	0.9821	0.9826	0.9830	0.9834	0.9838	0.9842	0.9846	0.9850	0.9854	0.9857
2.2	0.9861	0.9864	0.9868	0.9871	0.9875	0.9878	0.9881	0.9884	0.9887	0.9890
2.3	0.9893	0.9896	0.9898	0.9901	0.9904	0.9906	0.9909	0.9911	0.9913	0.9916
2.4	0.9918	0.9920	0.9922	0.9925	0.9927	0.9929	0.9931	0.9932	0.9934	0.9936
2.5	0.9938	0.9940	0.9941	0.9943	0.9945	0.9946	0.9948	0.9949	0.9951	0.9952
2.6	0.9953	0.9955	0.9956	0.9957	0.9959	0.9960	0.9961	0.9962	0.9963	0.9964
2.7	0.9965	0.9966	0.9967	0.9968	0.9969	0.9970	0.9971	0.9972	0.9973	0.9974
2.8	0.9974	0.9975	0.9976	0.9977	0.9977	0.9978	0.9979	0.9979	0.9980	0.9981
2.9	0.9981	0.9982	0.9982	0.9983	0.9984	0.9984	0.9985	0.9985	0.9986	0.9986
3.0	0.9987	0.9987	0.9987	0.9988	0.9988	0.9989	0.9989	0.9989	0.9990	0.9990
3.1	0.9990	0.9991	0.9991	0.9991	0.9992	0.9992	0.9992	0.9992	0.9993	0.9993
3.2	0.9993	0.9993	0.9994	0.9994	0.9994	0.9994	0.9994	0.9995	0.9995	0.9995
3.3	0.9995	0.9995	0.9995	0.9996	0.9996	0.9996	0.9996	0.9996	0.9996	0.9997
3.4	0.9997	0.9997	0.9997	0.9997	0.9997	0.9997	0.9997	0.9997	0.9997	0.9998
						L				

 $\Phi(x) = P(Z \le x)$  is the cumulative distribution function of the standard normal random variable *Z*.